-~ —~
E =
o G
— —
'—\? ’-\N
- o}
o 1n-1 <
5 10 )

NS
T
KE .
-

-l
eSS
.

Ll :

original_stepZ_ttbar-pnhnasel-newgeom

™

M”mKFit_stepZ2_ttbar-phasel-newgeom
M_angile step2_ttbar-phasel-newgeom
M_fas

st_step2_ttbar-phasel-newgeom
pix€[CPEGeneric_step2 ttbar-phasel-newgeom

1

a(d o) (rad)
o(o IOT/ IOT)

=
<
(¢
4
=
oI

% I 111 1111 1 11 1 Liilal L 14101
£k 1l 1 ST T s 11,0
© o T @© 3B P R TRt i & MEESNE SN
™ 2pit- T | x o i Aot + T
LT T |+ 2l : T
. M. - . :
-3 2 3 -3 2 3

TP ® (PCA to beamline)

v
—~
o
O
>
—
o
o
D
QD
3
=
¢]
~



	Contents
	Page 1


